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Gate trigger domain of ail possiiis i ate tr
b area tr‘igger domain of all possible triggering points in the gate trigger
cteristics become bigger at higher temperatures
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When turning ON
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0.5 H. For a q
Given that b PP voltage is 230V, (¥ sOHz, R= 10062, L=
ietion angle y = 1200, ping g following: ,
(i) The valyes and . &
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3. A sing]e h
Phase full-way 4
The load is highly indy S converter with a solar cells source and an RL load.
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€. It is Tequired to operate the converter as an inverter.
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(i)  If the solar cells are supplymg , V at 2 and the series resistance
=1Q, the seconda voltage of the orme ; ), find the firing angle

required to
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